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AANRESl SAl A StAT =
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(= | (= |
ol 1XF Al 25 Al
Heoe [ sMg | ®HE | sMg | ®HE
2008 10,200 97.5 36.9 99.6 8.1
2009 9,000 96.2 32.1 94.6 12.1
2010 13,800 96.5 34.2 954 54
2011 8,500 94.6 31.0 92.1 15.6
2012 9,100 96.5 31.9 94.5 16.6
2013 9,600 97.7 289 96.2 13.9
2014 8,000 98.2 27.7 941 15.0
2015 12,000 94.0 29.7 96.9 8.6
2016 14,000 96.5 30.1 95.0 6.3
2017 13,200 96.7 36.4 94.7 6.1
X 1) SAIB%) = % x 100
2) 2AHE(%) = fﬁgg x 100
3) 2Kt Al A2 1K AlY Aot Z3.
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529 Mg | 1029 He [ 129 R4S [ 229 WRAS
A 4 6 10,000 15,000
B 3 4 12,000 13,000
C 5 7 11,000 14,000
D 3 5 13,000 15,000
E 6 7 10,000 12,000
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